Foundation Phase

Answer these TRUE or False questions.

1. Two more than three is six.
2. There were 12 chocolates in a box. | ate 6 of them. There were 6 left.
3. Ateacher has 15 stickers. She gives out 3. She has 10 left.
4. There are 22 children in a class. On Monday, 3 children were absent. There
were 19 children in class.
Key Stage 2

Answer these TRUE or False questions.

9x8=72

121 divided by 11 equals 11

All the numbers in the 5 times table end with a 0 or 5

All the numbers in the six times table are also in the three times table
All the numbers in the seven times table are even

g b



